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EXPONENTIAL SERIES -
CONCEPTUAL QUESTIONS
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1 1 lo 3 JIo 3
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30 —+—+—+..0=
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x_l

x+1 x+1

[ x l x?
x+1 2 (x+1)°
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46.  2logn —log(n+1)—log(n —1)is equal to 42. 2<e<3
1 1 1 log, 2 <log, e<log, 3
1)F+ﬂ+ﬁ+ ..... 43 X:10g6(1+y)
, 111 44, logl+x+x>+x°)=logl+x* J+logl+x)
) n> 2n* 3n® 7 45.  Given value = log(1 + ax) + log(1 + /)
1 1 1 1 1 1 ~lo (1 +( 2)
— ettt e =logl+ (o + B)x + afpe
3) n2 n4 n6 4) n2 n4 n6 ,
A7, FF(X) =1+ X2+ X* +X° +......00 then s log — 0 |=tog1-L
""" ' (n+1)(n-1) n’
X
If(x)dx = 47. f(x)= (l—xz)_1
0
1) log(1-x) 2) log(1+ x)
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(1+x) 1, (1+x)
3) log (1=x) 4) §|Og (1-x) 1l Observe the following lists
List —I List -l
KEY 2\ x (loge a) e —e”
1) 22— 1
34.2 352 36.1 371 384 =0 2
394 40.3 41.2 424 43.2
442 454 461 474 i
HINTS Jen
2 ()Z(Z,HD 3 a
34. log(l —x4+x )=
o (D" (ax)" _ a*—a”
1) o | @ 2= 4
[f n is not multiple of 3 =0 n: 2
n
1\ +
2( 1) If n is multiple of 3 5) ¢re
n 2
1111 o) The correct match for List - I from List - Il is
.'.a3+a6+a9+....=2(—+—+....j =—log2 A B C D
3.6 9 12 3
(1) 3 5 3 5
© n+l 2 3 (2) 2 4 3 5
35, = =L{x—+x—+ ....... } @) 3 5 1 2
x&n+l x| 203 (4) 2 4 3 1
=——[-log(1-x)-x] 2. Asseton (A)
X
XER, & . PR +x3
3 n n+l - 1 n+l - Th Ta
® X = 1— I_l Ig Ié
3. nzzl: n+1 nz_:‘[ n+ lj
Reasson (R) :
0 0 n+l 2 3
= ZXn+1 - Z X xeR", l+log, x+ (log, x) + (log, x) +...to0=x
p— “~n+1 21 3!
1) Both A and R are true and R is a consequence of
2 2 3 3 A
38 (2x+3x)—((2x) ;LBX) j+((2x) ;LG)X) j+....= 2) Both A and R are true and R is a not consequence
' of A
3) Alis true but Ris false
, \ 4) A is false but R is true
3 2 3
S R VN LC M
2 3 2 3
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2 4 6 8.  Observe the following lists
3 =—+—+—+...tow . .
I 3! s List —I List Il
z 1 1 1 1
B= l-——+———+...10 ©
;(n+l)! NIT3737 (1) log, 3
oIS LI L S SRR 2) T L L (2) log, 2
STnTRTR T e 525 35 45 &
1 1 1 4
. 2.4 8 . + + .o © log, | —
D_I_E+E_E+ ........ tow0; e 3) n+1 2(n+1)2 3(n+1)3 (3)'08. 5
Arrange A, B, C, D in descending order L+ 1 N 1 N 1 ; o 5
1)B<A<D<C 2)A<B<C<D (4) 307 50t 700" (4) 08\
3)A<B<D<C 4)D<C<B<A |
1 1+—
4 [l k2 19293 =t ®) Oge( n)
21 3! 4! 3 . ; :
. The correct match for List - | from List- Il is
I I’lC0+7’lC1+nC2+ ...... +7’lcn 2 A B C D
— n, 1) 2 4 1 5
" 2) 4 2 5 3
Which of the above statements is (are) true ? 3) 3 2 5 4
1)only | 2)only I 4) 2 4 5 1
3)both land I 4) neither lorll 9. 1:0<y<2" and x(3*—1)=1, then
5. I: Coeff. of x"
2 3 2 2 2 V'
1+x+(l+x) +(1+x) N . Oo_i —+3—3+5—5+....t0 o =log T
1' 2! 3| ........ (0] - n‘ X X X _y
1 1 1
> . 2x+3x)" 3" -—+—+—+...to oc=1-log 2
I: Coeff. of 5 2, (-1) ~%=—' 13745 6 S
. = o " 9 Which of the above statements is (are) true ?
Which of the above statements is (are) true 1) only | 2)only Il
;;823/] 'I and i iggg'lt/h”er orl 3)both land Il 4) neither lor I
i
6. Asserion (A) : IfX< NPQ KEY
- fsseton WA - X 13 21 32 42 54
¥ X X 6.1 7.3 8.4 9.3
1,log(l+x)=x——+———+........ to o
2 3 4
1 1+X 0 xzn_l LEVEL - V
-—lo =
Reason (R).2 gl—x ,12::‘214—1
2 3 4 S
1) BothAandR aretrue and Ris a consequence L log(1+x):x_x_+x__x_+x__moo
of A 3 4 5
2) Both A and R are true and R is a not 2o XX
log(l—x)z—x ————————— 0
consequence of A 2 3 4 5
3) Aistruebut R isfalse | 11 . 11 -
4) Aisfalsebut R istrue T2 272 2°3 2f4 T
a=b\ 1(a=bY 1{a-bY 3 2
7 l:( » jj( p j*g( p j+ ----- =log, a-log, b I.log2  2.log3  3.log— 4 log>
(a-1) (a=1’ (a=1)" 2 3 4
(a-1)—- - =1
I1:(a-1) T3 g TTlog.a 5 Tan@—Tan 0+Tan 0 Tan 6’+“oo
Which of the above statements is (are) true ? 3 4
1)onlyl 2)only i 1. 2log(secd) 2. 2logcosé
3)both land Il 4) neither lorll
3. 2logtan @ 4. 2logcotd
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EAMCET - 2001

4 4 4 4
3. = §+522+533+544+”'OO = £+2+4+2+4+6+ B
. . . 6 2' 3' 4' ...... =
9 4 5 1)e-2 2)e-1 3)e 4)e
I log= 2. log= 3 log> 4 —log4 ) ) ) )
5 5 4 7. If |x|<1 , the coefficient of x® in the expansioin of

log(1+x+x?) in ascending powers of X, is

KEY 1)2/3 2)4/3 3)-23  4)-4/3
13 2 1 3.4 EAMCET -2007
8. If S =1+2"+....... +n’ and
PREVIOUS EAMCET QUESTIONS T, =142+......+n then (E-2007)
EAMCET - 2005 1S, =T 2) S8, =T,
20t 3) 8, =1 48, =T;
1- o n! 9. The sum of the series
1) 2e—1 2)2e+1 3)6e—1 4) 6e+l 3 335 [ 33T )
L 48 4812 481216 (E-2007)
a
2. la|<1,b=) —=a= 303 23 31 21
=k D57 D795 79433
2 4 3 47V2 47\N3 4
© (_l)kbk © (_l)k—lbk 1 1 1 1
1 2) L _ -
); k ); k! 0 57027 37 a0
E-2007
3 i(_l)kbk 4 i( l)kflbk ( ) 3
) & ) ) & e D 2) loge(z)
EAMCET -2003 4
3 2
S S L S S 3) 10%{5} 4) 10ge(gj
o2 B 3
KEY
£ € € €
1)2 2)3 3)4 4) 1.3 2.2 3.1 4.2 5.3
6.3 7.3 8.3 9.2 10.3

EAMCET -2002
4. Fora>0,xeR,
)Cz )C3 3
1+x log_a+—— (x log_a)? + ?.(loge a) +...=

2!
1)a 2) a 3)log.a 4) x
1+2 1+42+2° 1+2+2°+2°
5 1+ + + =
2! 3! 4!
1) e?+e 2)e? 3)e?-e 4)e*e
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